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CAN_MSG.DATA[5]=",
SE range 0~9,999,999 (H|0{7| resetA| 7| Zt 5,000,000=0x4C4B40) CAN_MSG.DATA[6]="5"  //SI02] 38R+
CAN_MSG.DATA[7]=";
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" 1st msessage packet 2nd msessage packet
CAN_MSG.DATA[0]="p CAN_MSG.DATA[0]='S' CAN_MSG.DATA[0]="2"
CAN_MSG.DATA[1]=0x4C CAN_MSG.DATA[1]="r' CAN_MSG.DATA[1]="9"
CAN_MSG.DATA[2]=0x4D CAN_MSG.DATA[2]='8' CAN_MSG.DATA[2]='A'
CAN_MSG.DATA[3]=0x44 CAN_MSG.DATA[3]="2' CAN_MSG.DATA[3]=",
CAN_MSG.DATA[4]=0x4C CAN_MSG.DATA[4]='9" CAN_MSG.DATA[4]='8'
CAN_MSG.DATA[5]=0x49 CAN_MSG.DATA[5]="B' CAN_MSG.DATA[5]="2"
CAN_MSG.DATA[6]=0x8C N CAN_MSG.DATA[6]=",' CAN_MSG.DATA[6]="A'
CAN_MSG.DATA[7]= Check sum, [1]~[6] H|O|E{ 22| Inverse, CAN_MSG.DATA[7]='8' CAN_MSG.DATA[7]='D'
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" HO|d byte[|O|E| £ hex H CAN_MSG DATA[3]='A'
B CAN_MSG.DATA[S] g
CAN_MSG DATA[0]=0x00 CAN_MSG.DATA[6]= 0"
CAN_MSG.DATA[1]=0x4C CAN_MSG.DATA[7]="#0"
CAN_MSG.DATA[2]=0x4B CAN_MSG.LEN=6
CAN_MSG.DATA[3]=0x3F
CAN_MSG.DATA[4]=0x00
CAN_MSG.DATA[5]=0x4C
CAN_MSG.DATA[6]=0x4B
CAN_MSG.DATA[7]=0x41
CAN_MSG.LEN=8
cf) 0x4C4B3F =4,999,999 , cf) 0x4C4B41 =5,000,001
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